20234 JAFLIEE S —RFHE E48 Jul 23 2023
ARV IART—UHRR (BE
[ss] 4| [ Course [SHUNBETSU 2 [Length (km)] 594 |
Stage Classification Total Classification
Pos | No Class | Pos| Driver / Co—Driver Time | Diff (Prev)] Km/h Pos No Class | Pos| Driver / Co-Driver | Time (Pen) |Diff (Prev)
1 1 ChRA1 | 1 |FfI&m BBt 4:57.17 -l 71.83 1 = 1 ChRAT | 1 |f1&R =Bt 17:02.9 -
BE =& BE =1
2 5 | ChRAT | 2 |B§#R IEA 4:58.8 +1.1) 71.57 2 | = 5 | ChRAT | 2 |E§#R IEA 17:11.8 +8.9
mIl wF (+1.1) NI (+8.9)
3 4 | ChRA1 | 3 (&% 2A 5:12.0 +14.3| 68.54 3| = 2 | ChRAT | 3 |BkiE #F05h 18:00. 6 +57.7
FH i (+13.2) AR BEF (+48. 8)
4 8 | ChRA1 | 4 [KiE E 5:12.2 +14.5| 68.49 4 | = 4 | ChRA1 | 4 (£ 24A 18:00. 8 +57.9
#@H BB (+0.2) FH (+0.2)
5 2 | ChRA1 [ 5 |f&:ZE F05h 5:17.1 +19.4| 67.44 5 | -1 8 | ChRA1 | 5 (K E 18:01.0 +58. 1
AR BF (+4.9) #H EB (+0.2)
6 | 16 | ChRA3 [ 1 |EEHE =E35A 5:18.4| +20.7| 67.16 6 |+1| 16 | ChRA3 | 1 [FRHE ==3A 18:19. 8 +1:16.9
BH ¥ (+1.3) BH ¥ (+18.8)
7 13 | ChRA2 | { |ZE@H &= 5:23.3 +25.6| 66.14 7 |- 3 | ChRAT | 6 R = 18:24.8( +1:21.9
JIF BRAE (+4.9) FEs B (+5.0)
8 3 [chrAT | 6 [1REF = 5:24.0] +26.3] 66.00 g =]2[sr |1 [HE BN 18:33.5] +1:30.6
FER (+0.7) ER EF (+8.7)
=8 9 [chrAT | 6 B BE 5:24.0 +26.3| 66.00 9 | = 7 ChRAT | 7 |EIE BA 18:42.0[ +1:39.1
o & (+0.0) B85 KE (+8.5)
10 | 22 | Jr RAT [ 1 [dbE&E #B4 5:29.2( +31.5| 64.96 10 =] 18 | chRA3 | 2 [IL Fith 18:44. 6 +1:41.7
BER EF (+5.2) by B (+2.6)
11 11 | ChRA2 | 2 [iEfE Kt 5:30.4 +32.7| 64.72 11| = 13 | ChRA2 | { |EE@H F{ 18:45.9( +1:43.0
tR E— (+1.2) & BRAE (+1.3)
12 6 [chRAT | 8 [B1E &iA 5:32.9] +35.2] 64.24 12 =] 9 [chrAaT | 8 [BBE BH 18:48.6] +1:45.7
A Ih (+2.5) o B +2.7)
13 | 21 [ JrRAT | 2 [[REA EA 5:33.6 +35.9| 64.10 13 = 21 [ JrRAT | 2 [[RH EA 18:59. 4 +1:56.5
K (+0.7) KR (+10. 8)
14 | 18 [ chRA3 | 2 [#IL Rkttt 5:34.2] +36.5] 63.99 14 =1 6 | chRAT | 9 |BIE A 19:03.9[ +2:01.0
s B (+0.6) A Ih (+4.5)
15 7 ChRAl | 9 |5 [FHA 5:35.9 +38.2| 63.66 15 = | 11 | ChRA2 | 2 [iE@E K4 19:14.6( +2:11.7
B% BS +1.7) tR E— (+10.7)
16 | 15 | ChRA3 [ 3 |Ht E5 5:36.8] +39.1| 63.49 16| = | 19 [ ChRA4 | 1 |Z it HE 19:32. 3 +2:29.4
KBA HEF (+0.9) hf EF +17.7)
17 | 19 | chRA4 [ 1 [zt #HZE 5:43.2 +45.5| 62.31 17|+1| 15 | chRA3 | 3 |[HE EF 19:34.6( +2:31.7
hF BF (+6. 4) KBA HEF (+2.3)
18 | 29 Open 1 |;)kE & 5:46.2 +48.5| 61.77 18| +1| 17 | ChRA3 | 4 [lLzA —E 19:52. 7| +2:49.8
JKH KE (+3.0) Wzn = (+18.1)
19 | 17 | ChRA3 | 4 [lLzH —E 5:47.8 +50. 1| 61.48 19 | +1 | 14 | ChRA2 | 3 [{EBE KA 20:06.9| +3:04.0
wzAm = (+1.6) == (+14.2)
20 | 12 [ ChRA2 | 3 R A& 5:54.2 +56.5| 60.37 20| +3 | 29 Open 1 |;kE & 20:18.2| +3:15.3
wE Lo (+6. 4) JKH K=E (+11.3)
21 | 24 | rRAZ[ 1 [fBE BF 5:55.8] +58. 1| 60.10 | [21 | = | 28 | Oren | 2 [hEE &SR 20:25.6| +3:22.7
N 5 (+1.6) & mFE (+7.4)
=21| 26 | JrRA3 | 1 [{REBA & 5:55.8] +58.1] 60.10 22 =] 10 [ chRA2 | 4 [ —3= 20:25.9] +3:23.0
=K ¥ (+0.0) FH EBA (+0.3)
23 | 14 | ChRA2 | 4 |ikiE KA 5:55.9 +58.2| 60.08 23(+1| 24 | JrRA2 | { [fBREE EF 20:30.8| +3:27.9
== +0.1) INEF 5h (+4.9)
24 | 10 [ chRA2 | 5 [ —3= 6:00.3] +1:02.6] 59.35 24 [ +2| 26 | JFRA3 | { |[{RBAR & 20:37.6] +3:34.7
FH BEA (+4. 4) =K ¥ (+6.8)
25 [ 28 | Open | 2 [ HER 6:02.5[ +1:04.8| 58.99 25| +3| 12 | chRA2Z | 5 |RB A 20:39.5| +3:36.6
&Y EF (+2.2) rE LOAS (+1.9)
26 | 27 | JrRA3 | 2 [KHl FH# 6:07.6] +1:09.9] 58.17 26| -1 23 | or RA2 | 2 |[/NEFEF &R 20:48.5] +3:45.6
By = (+5.1) INFE HEF (+9.0)
27 | 25 [ JrRA2Z | 2 |JII[R EBE 6:10.2| +1:12.5| 57.76 27| = | 27 | JrRA3 | 2 |KHl H# 20:51.3| +3:48.4
EH EBE (+2.6) BE = (+2.8)
28 | 23 [ Jr RA2 | 3 [/NEFEF & 6:11.2| +1:13.5] 57.61 28 +1| 25 | JrRA2 [ 3 |JII[E BZE 21:31.1] +4:28.2
INFE HEF (+1.0) EH BE (+39. 8)
29 | 20 | ChRA4 | 2 IEH {Z 10:12. 7| +5:15.0| 34.90 29 |-12| 20 | ChRA4 | 2 |ZEH (= 24:04.0| +7:01.1
SEE MR (+4:01.5 SHE B (+2:32.9
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